Fage 1
Solution to Case Studies, Chapter 8

Sometimes, there is not a definitive answer to a case study exercise. Here are example responses.

ROR ANALYSIS WITH ESTIMATED LIVES THAT VARY

1. PWat 12% is shown in row 29. Select server #2 (n = 8) with the largest PW value.
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#1 (n=3) is eliminated. It has i* < MARR = 12%. Perform an incremental analysis of #1 (n
=4) and #2 (n =5). Column H shows Ai* = 19.5%. Now perform an incremental comparison
of #2 for n=35 and n=8. This is not necessary since no extra investment is necessary to

expand cash flow by three years. The Ai* is infinity. Itis obvious: select #2 (n = 8).

3. PW at 2000% > S0.05. Ai* is infinity, as shown in cell K45, where an error for IRR(K4:K44)
is indicated.
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Fage 2

Sometimes, there is not a definitive answer to a case study exercise. Here are example responses.

HOW A NEW ENGINEERING GRADUATE CAN HELFP HIS FATHER

1. Cash flows for each option are summarized at top of the spreadsheet. Rows 9-19 show annual
estimates for options in increasing order of initial investment: 3,2, 1,4, 5.
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2. Multiple i* values: Only for option #2; there are 3 sign changes in cash flow and cumulative

cash flow series. No values other than 10.1% are found in the 0 to 100% range.

3. Do incremental ROR analysis after removing #1 and #2. See row 22. 4-to-3 comparison
yields 49.9%, 5-to-4 has no return because all incremental cash flows are O or

negative. PW at 25% is 8785 for #4, which is the largest PW. Aw is also the largest for #4.

Conclusion: Select option #4 — trade-out with friend.



5.

4. PW vs. i charts for all 5 options are on the spreadsheet.

Options Approximate
compared breakeven

1 and 2 26%

Jand 5 27

2and 5 38

1 and 5 42

Jand 4 50

Force the breakeven rate of return between options #4
and #3 to be equal to MARR = 25%. Use trial and error
or Goal Seek with a target cell of G22 to equal 25% and
changing cell of C6 (template at right). Make the values
in years 5 through 8 of option #3 equal to the value in
cell €6, so they reflect the changes. The answer obtained
should be about $1090, which is actually 1,000,000 for
each of 4 years.

Required minimum selling price is 4(1090,000) = 54.36
million compared to the current appraised value of 52
million.
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